
1321  Sangl Goc Hanh Weangz

.6

dauc

1

hoh

1

rauz

1

sangl

1

deeus

2

4

4

3

goc

3

ndil

5

nyiel

-1

ndeeul

.6

sangl

1

haec

1

weangz

2

rauz

.7

bux

.
7

qyuh

.
6

genz

. -5

mbenl

1=H
]=140

.6

dauc

1

hoh

1

rauz

1

sangl

1

deeus

2 3

goc

3

ndil

5

nyiel

-1

ndeeul

.6

sangl

1

haec

1

weangz

3

rauz

2

bux

3

laaux

2

geh

1

idt

-2

yaangz

3

dac

5

fengz

3

sangl

1

goc

3

daanx

5

jinx

3

daz

1

yianz

3

hingl

3

rianz

3

dangz

4 - - -5

weac

.5

hingl

5

rianz

5

ndil

4

nyiel

5 .6

rianz

6

bail

5

dangz

3

mbenl

3

ngonz

3

ngonz

3

duc

3

hanh

2

weangz

3

hoh

- - ----3,1

rauz


